Kitchen Robot
Rob the robot is supposed to tidy up the kitchen. Plates and cutlery on the table need to be stowed away. Clean plates go into the cupboard, clean cutlery goes into the drawer. Dirty dishes need to be washed in the dishwasher (Dw) before they are put to the right place.

The robot’s available actions are: 

pickup(x)

grasp object x with hand

walk(l)

walk to location l

put(x,l)

put an object into location l

clean

turn on the dishwasher

Changing aspects of the world are described with 1 functional and 3 relational fluents:
Loc(x,s) = y
the location of x in s is y

At(y,s)

the robot is in s at y

Dirty(x,s)

x is dirty in s

Holding(x,s)
the robot holds x in s
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GOLOG-Program
proc clearTable
while (x. Loc(x) = Table do 

if (At(Table) then walk(Table) endif; 

(x [pickup(x);
      if Dirty(x) then walk(Dw); put(x,Dw) 

      else stowClean(x) endif]

endwhile

endproc;

proc emptyDw
while (x. Loc(x) = Dw do 

if (At(Dw) then walk(Dw) endif;  

(x. [pickup(x); stowClean(x)]

endwhile

endproc;

proc stowClean(x)

if Cutlery(x) then 
walk(Drawer); put(x, Drawer) 

else walk(Shelve); put(x,Shelve) endif

endproc;

proc tidy_up
clearTable; 
if (x. Loc(x) = Dw then 
if (At(Dw) then walk(Dw) endif;  
clean;

emptyDw
endif
endproc;

tidy_up.

